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BACHELOR'S DEGREE PROGRAMME 
(BDP PHILOSOPHY) 

Term-End Examination 01841 
December, 2018 

ELECTIVE COURSE : PHILOSOPHY 

BPY-002 : LOGIC : CLASSICAL AND SYMBOLIC 
LOGIC 

Time : 3 hours 	 Maximum Marks : 100 
Note : 	(i) 	Answer all five questions. 

(ii) All questions carry equal marks. 
(iii) Answer to questions No. 1 and 2 should be in 

about 400 words each. 

1. Explain the nature of definition. State its rules 20 
and fallacies. 

OR 
Explain the meaning of Compound Statement. 20 
Analyse the truth value of all Compound 
Statements with the help of truth tables. 

2. Explain the nature and kinds of dilemma. State 20 
the ways of avoiding it. 

OR 
Give an account of quantification theory : its 20 
meaning, logical relations and rules. 

3. Answer any two of the following in about 
200 words each : 
(a) Explain different kinds of propositions. 	10 
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(b) Give the meaning and kinds of reasoning. 10 
Evaluate deduction and induction. 

(c) Write the structure, axioms and fallacies of 10 
Categorical syllogism. 

(d) Through truth tables give the equivalent 10 
forms of Implication, Disjunction and 
Negation. 

4. Answer any four of the following in about 
150 words each : 

(a) Distinguish between concept and term. 	5 

(b) Describe the informal fallacies of ambiguity. 	5 

(c) Explain Categorical proposition. 	 5 

(d) Describe stroke function. 	 5 

(e) State the special rules of figure IV. 	 5 

(f) Prove the following argument with the help 	5 
of rules of inference. 
(i) (K = A) A (M = D) 

A 
K A r- M 

5. 	Write short notes on any five of the following in 
about 100 words each : 

(a) Logic and psychology 	 4 
(b) Rules of Logical division 	 4 
(c) Dagger Function 	 4 
(d) Conversion 	 4 
(e) Venn diagram 	 4 
(f) Utility of symbolic logic 	 4 
(g) Function of falsification 	 4 
(h) Rules of replacement 	 4 
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(i) (K A) A (M = D) 
r—A 

n-  K A r---  M 
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(a) do nO1 	4-1-t IL 1 4 

(b) s*--  71f 	fd1.174i -N4-1 4 

(c) R 4 

(d) 4 t c4 4 

(e) 9 31k-gr 4 

(f) chl 0-1 ch d 71T '  4 

(g) 317174T7t717T chi 4 

(h) Tird-{-47F 4 
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